Series JSR/1 Set 3

e 31/1/3

et 4. Tdierell hie i I & Ja@-

Candidates must write the Code on
the title page of the answer-book.

o FHUIT S F A foh 30 TH-T W gia Us 24 2 |

o IH-UF H gTie BT Al 3T U 7 g TR 1 BT ST -t & g@-I8 W fad|

o FHUIT S H A foh 39 T-I9 T 36 T 2|

. FHUFT T T I TG I1& o3 & Uget, TI T sHTeh HAT9d fordi |

« 38 YH-TF A Ugq * U 15 fime & guw o o 21 wwA-ua  faawon qatg |
10.15 Sl ToRIT ST 10.15 ST € 10.30 51 T BT ohddl T -0 3l T 3R 39
AT o TR o IT-TIhT T 5 ST T T |

» Please check that this question paper contains 24 printed pages.

* Code number given on the right hand side of the question paper should be written
on the title page of the answer-book by the candidate.

» Please check that this question paper contains 36 questions.
* Please write down the Serial Number of the question before attempting it.

* 15 minute time has been allotted to read this question paper. The question paper
will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will
read the question paper only and will not write any answer on the answer-book
during this period.

Hehferd TieT - 11
SUMMATIVE ASSESSMENT - II

IERIC]
SCIENCE

e @ar : 3 92 ] [ ST 37 : 90

Time allowed : 3 hours | [ Maximum marks : 90

[P.T.O.



qraT= 13397;

(i)

(i)

(iii)

(iv)

v)

(Vi)

(vii)

(viii)

(ix)

(x)

31/1/3

3G J97-F F1 @ G, WFT-3 SR GFT-a 7 &ier 797 8 | 3791
g1 9T & Fo1 @ I ferad 8 1

&Yt 77 ST 7 |

R Fo7-97 8 135} 97 7 F5 797 519 781 8 |

STTTH! T 3 3R GIT T & T F971 & I JIH-J9% 9T &
TR R fora 8 1

T 3 & Y97 G&IT 1 G 3 & J97 UH-UF 3F & & | 7% I U
IIea 37947 Uk JTFT 4 @ /

ST 37 % 97 GEIT 4 & 6 & 7 F1-3] 3% & & | F735 IR T
307 Ha7E

T 3T & 97 &I 7 & 18 & o7 A~ Pl @ & | §7% FN
T 50 F1551 7 34 & |

T 3 % J77 G&IT 19 & 24 3 7 Gi-917 3H & & | 579 IR
T 70 ¥551 H 37 & |

YT T & 37 &7 25 & 33 & Y97 JIVTIcHE FI9TT T HTERT
TGl 7 & | JIF 97 U 37% 7 & | 13T 79 9 [9eq 4 &

3T BT T T8 ITTH 1957 AT & |

YT & & J37 G&IT 34 @ 36 & T57 JINTcHF FI9TT T STERT
g1-31 371 & J¥7 8 | 579 FTH Gler 4 a7 & |



General Instructions :

(i)

(ii)

(iii)

(iv)

v)

(vi)

(vii)

(viii)

(ix)

31/1/3

The question paper comprises two Sections, A and B. You are

to attempt both the sections.
All questions are compulsory.
There is no choice in any of the questions.

All questions of Section A and all questions of Section B are to

be attempted separately.

Question numbers 1 to 3 in Section A are one mark questions.

These are to be answered in one word or in one sentence.

Question numbers 4 to 6 in Section A are two marks questions.

These are to be answered in about 30 words each.

Question numbers 7 to 18 in Section A are three marks
questions. These are to be answered in about 50 words

each.

Question numbers 19 to 24 in Section A are five marks

questions. These are to be answered in about 70 words each.

Question numbers 25 to 33 in Section B are multiple choice
questions based on practical skills. Each question is a
one-mark question. You are to select one most appropriate

response out of the four provided to you.

Question numbers 34 to 36 in section B are two-marks

questions based on practical skills. These are to be answered

in brief.
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T -—-A
Section-A

o

1. M=faRad § ¥ aq sEgehe gy :

CH¢; CH,;CHy; CH,;CH,

Select saturated hydrocarbons from the following :

C.H, ; CH

H, ; C,H,, ; CH,, 5 C,H,

10 > 747710 > —6 714 °

2. T EIAI 2 SIS his WA a1 YHT H ohe ST 2 7

What happens when a Planaria gets cut into two pieces?

3. B UeYl %l IcqTeeh i hed @ ¢

Why are green plants called producers?

4. Toret < it &uaT § 1 ITqd B 7 SHERT SHTcHeh 31U RUcHS (8
T 311 & ¢ $9eR1 S.1. "o faiRa | g weres forelt < it wiend gl
g forg yorR gafta 2 7

What is meant by power of a lens? What does its sign (+ve or —ve)
indicate? State its S.I. unit. How is this unit related to focal length

of a lens?

5. eI afedd o -9 JeEE o =R AT ol Gt SR |

List four advantages of properly managed watershed management.

31/1/3 4



6. ““TRT o YIS ShY STUET IEehT I: STANT ATk =BT R | 39 HYH
=i ST |fed giE hif | 2

“Reuse is better than recycling of materials”. Give reason to justify

this statement.

7. TIATA ol ITUHT A5 ToRh o0 H 443 K W T i T 4 91
Afires o1 A faftge | 38 8F et stfufsean shr vamfaes s o
fRaw qen 915 gowrfte o i 38 AT § fiemt 1 Jeoi@ ot
Sifsre | = grm, Ife Wik AT o 3care shi rfyfshan, difead
FAaT fehal SIE I shi IUETd 1, BTgie d hEl <Y 7 3

Name the compound formed when ethanol is heated in excess of
conc. sulphuric acid at 443 K. Also write the chemical equation of
the reaction stating the role of conc. sulphuric acid in it. What
would happen if hydrogen is added to the product of this reaction

in the presence of catalysts such as palladium or nickel?

8. & udATe Wiz H,SO, i Jufeufa & uiiss ora & stfufsran oan 2,
ql g 19 Ik e 3cdd =il © | e 9 eyt o 3w i 3

(i) g 7 9t 3 ANfirek g Afirent o ot 4 arrd F, 3weRt A fafaw |
srfufsran =1 TR THieur 3R 999 9T 3T o1 A fdfgu |

(i) 3@ fsrishan © @18 H,SO,, *hl YfHehT 1 Ieeid shifely |

31/1/3 5 [P.T.O.



When ethanol reacts with ethanoic acid in the presence of conc.

H,SO,, a substance with fruity smell is produced. Answer the

following :

(1) State the class of compounds to which the fruity smelling
compounds belong. Write the chemical equation for the reaction

and write the chemical name of the product formed.

(i) State the role of conc. H,SO, in this reaction.

9. T qA AT B MY Aad GReft o qTEX ATEd H HAT: T8 2 3R
13 ® fe¥rq € | arferert & &9 °, 39 aH1 acdi ot e @ 18 o i
T shifSTT |

(a) STk TRATU[STI H Soidreil ohl &

(b) ok IATI[STI o TTES

(c) SAFHI hl AWM hi Y

(d) 3o JTTFETESI oh G
(¢) ok UTfcaeh A&l
() 3T FANZE! o6 G

31/1/3 6



Two elements ‘A’ and ‘B’ belong to the 3rd period of Modern
periodic table and are in group 2 and 13 respectively. Compare

their following characteristics in tabular form :

(a) Number of electrons in their atoms
(b) Size of their atoms

(c¢) Their tendencies to lose electrons
(d) The formula of their oxides

(¢) Their metallic character

(f) The formula of their chlorides

10. ®i5 9@ ‘M’ fSEeht Soigeiq fo=rmd (2, 8, 2) ©, 99 &9 9§ Heloh
(NO,)",(SO,)*” @ (PO,)* & @1 AN AT & | 38 THR o A
ifTehi o g fIRIT | dcd ‘M’ Mok TEd AR o6 fohd TR 3R
AFd § AT 87 ‘M’ HEGASH AfR SO 1eE R Ak
FETE ? 3794 I hl SHR0T Gfed g hife | 3

An element ‘M’ with electronic configuration (2, 8, 2) combines
separately with (NO,)",(SO 4)2_ and (PO 4)3_ radicals. Write the
formula of the three compounds so formed. To which group and
period of the Modern Periodic Table does the elements ‘M’

belong? Will ‘M’ form covalent or ionic compounds? Give reason

to justify your answer.

31/1/3 7 [P.T.O.



11. T & 97 aread © ¢ el uTedt § e SRt g fafern o Am fifen
3R 3ok o=t favea ot hifsw |

What is meant by pollination? Name and differentiate between the

two modes of pollination in flowering plants.

12. AFa SEE & ERa &, SR 3w o @ iR wgfe & g
AEwE B, il HE b T Oy ot game ) y@w fafa % qm

forgr=a o1 Iooig hifT |

Suggest three contraceptive methods to control the size of human

population which is essential for the health and prosperity of a

country. State the basic principle involved in each.

13. = 3@ T M TCHEN A, B 3R C o T 3T Idh 1 Tsh-Ueh A
oy |

[Py
)

C

31/1/3 8



Name the parts A, B and C shown in the following diagram and

state one function of each.

02
W

14. 92X o0 Qi (TT) 991 HeL o & die (tt) o st foru foredt ush gat
Gehwl H el AT ol vt Wl F, H et #eX o ol qE (Tt) &
TS §C | 9 F, i@l o el o T g 6 F, 0 § Het oh ol
HR A <M1 & TR o T UTed B | 3= 37 sfifsiai o @ fory g
AT H ot I SUIh YOI i UTC S ok STTIR I T S1+eh Tohelt
T W Uga Fehd @ ¢ I 7, df 39 W o s i | 3fe &, a@f
319 I ! hrT Tl giE hifsr | 3

In a monohybrid cross between tall pea plants (TT) and short pea

plants (tt) a scientist obtained only tall pea plants (Tt) in the F
generation. However, on selfing the F generation pea plants, he
obtained both tall and short plants in F, generation. On the basis of

above observations with other angiosperms also, can the scientist
arrive at a law? If yes, explain the law. If not, give justification for

your anSwer.

31/1/3 9 [P.T.O.



15. 3UTRSId ALJUN TR SR ALV ok S i fIaehil Aegon <l gt
qTfeTehT o &9 | ST |

List three distinguishing features, in tabular form, between

acquired traits and the inherited traits.

16. (a) F9 & TAT G YT o 3UadT i g9 o foAw fFor e
iU | 30 A@ W A9aa hivl 91 & ¥ [od GHT Jehm
foRtoT o Tfeeien foreerma =t oft ifeRa hifste |

(b) 3 I & = H THA L THA TR % TC = 1 A9adHR
3/2 %, O YhTST o il | 91 H T o o foTT a1 o1 STuad-ieh
1 T |

(a) Draw a ray diagram to show the refraction of light through a
glass slab and mark angle of refraction and the lateral shift

suffered by the ray of light while passing through the slab.

(b) If the refractive index of glass for light going from air to glass is
3/2, find the refractive index of air for light going from glass to

air.

31/1/3 10



17. 7= o 50 9 vad YT o 709 o U Yh1ST o TI&90 g T HR
fafau | = 7 31 gdum == et g % fore wehr qurien for g w1
3 YhTST ETd 0T o1 &1 @ ? TR Wiceht I8 233U foh STal Toid Jehmel
1 Iqal I, Toh-gEX § 3o FAEd 31 Gadd hid o TISHI o TasH

o ¢

H, et o0 % weteh X feferd: STIad ohtdT B, a9 IEehT 9 I BIdl

2 3

State the cause of dispersion of white light passing through a glass
prism. How did Newton show that white light of sun contains
seven colours using two identical glass prisms. Draw a ray diagram
to show the path of light when two identical glass prisms are
arranged together in inverted position with respect to each other
and a narrow beam of white light is allowed to fall obliquely on

one of the focus of the first prism.

18. Freferfiaa 61 gft 3 fora o ifva

(a) forelt oft Sha-mveer | eTuseeht / STumTStent shi Iufefd STewae © |

(b) Toret SATER @1 § 11 -JaTe Ui BT 2 | 3

Give reason to justify the following :
(a) The existence of decomposers is essential in a biosphere.

(b) Flow of energy in a food chain is unidirectional.

31/1/3 11 [P.T.O.



19. (a)

(b)

(©)

(b)

31/1/3

et gdon o Teof # = fau M wet i afcar fafae

(i) 9

(i) oRa1 &5

(i) &I 31

(iv) T&T BiHd

= faw 7w gdvT % g B g o fore foRr s it

(i) Tads U
(i) 3 U

Fro fou U sTE W o AifSw | sed M S 990 991 P IS
forrar 2, fSrepT gdor gRy s strarfeda wfdafsrar Q 2 1

TYUT M o JehR o1 3ocil shiteTe IR Tfdfers Q 1 i3 Tsh faf3me
707 feAfa |

Define the following terms in the context of spherical
Mmirrors :

(1) Pole

(i1) Centre of curvature

(i11) Principal axis

(iv) Principal focus

Draw ray diagrams to show the principal focus of a

(1) Concave mirror
(1) Convex mirror

12



(c)

20. (a)

(b)

(a)

31/1/3

Consider the following diagram in which M is a mirror and
P is an object and Q is its magnified image formed by the

mirror.

State the type of the mirror M and one characteristic property of

the image Q.

AL 93 o 1= U 7U T es Wt o1 v fafau
qacil, giearient, fheeet i, qeamdt ufmi

YR o faeRrEsiicl 20 o rEl sFith Hi-aT-37¢dr 9 difed € |
SR ohl AFEH FRT YT hiaT o JIRIYIT /TfeEama= g 3k
Toram ST Hehat B | 3Tk I o Tordll TRt THTS 3 3k uei
T gHt 927 o IR H SIFRechdl 3cde hid o 329 9 Teh 1A
TR Tk 21 afe o1ad 56 Sfia-de § 9 oiF & fore e
ST, Y 3719 39 v i § fohd JehR T <7 ¢

(i) 39 YR o AT 1 ARSI L 1 333 forfay |

(i) Ig o ITETd T4 1 Tl TH hA & fT¢ UG FLd T0T A9
TN 3h1 AT Tk <11 7 U &I <Iehi ohl Gl 15T |

(iii) 3 < goat 1 Gt TS S 39 e | foeRfad 2 S €

TG YR oh ShA| H 9HT okt Hishd JEM <d © | 5

Write the function of each of the following parts of human eye :

cornea; iris; crystalline lens; ciliary muscles

13 [P.T.O.



(b)

21. (a)

(b)

(c)

31/1/3

Millions of people of the developing countries of world are
suffering from corneal blindness. These persons can be cured
by replacing the defective cornea with the cornea of a donated
eye. A charitable society of your city has organised a campaign
in your neighbourhood in order to create awareness about this
fact. If you are asked to participate in this mission how would

you contribute in this noble cause?

(1)  State the objective of organising such campaigns.
(i1) List two arguments which you would give to motivate the

people to donate their eyes after death.

(i11)) List two values which are developed in the persons who

actively participate and contribute in such programme.

39 o g fdferesl 9991 2914 o fow 3@ ferfa § gerrwr fomor
Hife e =hiE fors <fd o Jehifteh g 3T 3Heh &I Hishd &
S feme |

SWE R @ H 3d e dfed (YR (+) S1eET
FOMCHS () T8 g fog ot & FgEn) o g (u) qon
wffereat gt (v) sifra R | Seora AR fF 58 e §, 3 gft
3T id 1 Bikd g (f) & Fore TR waIfera € |

39 i <t AT F1d hINTT, ST 37T TehRTRTR g § 20 cm T T

[Nl aN

Tera foretY forear o1 —1 3TMaedH 1 aTEdfarer 9 Seet Ufdfors sHTAT 2 |

14

5



(a)

(b)

(c)

22. (a)

(b)

(b)

31/1/3

Draw a ray diagram to show the formation of image by a
convex lens when an object is placed in front of the lens

between its optical centre and principal focus.

In the above ray diagram mark the object-distance (z) and the
image-distance (v) with their proper signs (+ve or — ve as per
the new Cartesian sign convention) and state how these
distances are related to the focal length (f) of the convex lens in

this case.

Find the power of a convex lens which forms a real, and
inverted image of magnification —1 of an object placed at a

distance of 20 cm from its optical centre.

T HIGT ST 3 o -l 4T 7T ek 9T 31 i foffae -

(1) SR

(i) HAREE TS

(i) TR

TAERET Sl FEEET 3T R T AU hHIfTT | 5

Write the functions of the following parts in human female

reproductive system :

(1) Ovary
(1)) Oviduct

(ii1)) Uterus

Describe the structure and function of placenta.

15 [P.T.O.



23, Sfd 3g9e @ A7 d1edd § ¢ S 3g9ad o oI STt IR ekl Sl

el ST | 0 | M WURT TSt o 9Tedi o S 3g9eH o
T R T 2 Hehdl ¢ 39 It hl SHR0T Ffea gfE Ao |

What is meant by speciation? List four factors that could lead to

speciation. Which of these cannot be a major factor in the

speciation of a self-pollinating plant species. Give reason to justify

your anSwer.

24. (a)

(b)

(©)

31/1/3

T BIEGIhTeA! SR ST BT3gIhTail o s fawed & & fotu
s THES gde fafau |

TefH % 9 § e BN W S dTet 3cTel 3 W ffae | 89 areft
srfrfsrn o1 TaTafTe T fafay o famifed g areft fafsm
YehI shi FHSTISl ohl ST |

T % ety <l Sufedfa § Ao il FA & @y rfufwar @
yfceemaa stfsfsran =i | S @ ?

Give a chemical test to distinguish between saturated and

unsaturated hydrocarbon.

Name the products formed when ethane burns in air. Write the
balanced chemical equation for the reaction showing the types

of energies liberated.

Why is reaction between methane and chlorine in the presence

of sunlight considered a substitution reaction?

16



ART-

Section-B

25. Torelt B 9 JERTRIE i HS % g TR W @l Wi i Sare
1 Agdd U gRT o1 o180 Uidfersl foret o8 W, 36t 391 o™
H BRd g TG FH * fore, g fomn | e wEew 3 39 B
T hichd U T AR 3Tk TE A IT i ok Tell, ST & SIS
1 km @ o fret waa o1 ®hid & &1 gema foam | 3 9
T 3 TEY YA Dl BIRGA B b [T W AT AT TAFTANRG
AT AT : 1
(a) TUUHI UG H R
(b) U< I TUT H I
(c) U ol UYT ht AR
(d) U< ol 9ad i AR

A student obtained a sharp image of a candle flame placed at the

distant end of the laboratory table on a screen using a concave
mirror to determine its focal length. The teacher suggested him to
focus a distant building about 1 km far from the laboratory, for
getting more correct value of the focal length. In order to focus the
distant building on the same screen the student should slightly

move the :

(a) mirror away from the screen
(b) screen away from the mirror
(c) screen towards the mirror

(d) screen towards the building

31/1/3 17 [P.T.O.



26. ToREt STFATRR A o Wid ¥ oA aTel TehrT TohoT 31 99 STRRET
FH o foru, i & wft S = rnfies ek gan § 7

LI CH

P Q R S
(a) P

(b) Q
(c) R
(d) S

Select from the following the best experimental set-up for tracing

the path of a ray of light passing through a rectangular glass slab :

(@) P

(b) Q
(c) R
(d S

31/1/3 18



27. = fou e e 1 SteeE hifSTe fSrom forddt s 3 S T1uaH T (L),
I I (Lr), Tria =0 (Le), T=m =01 (LA) a9t fomem =i

(£D) Afeha fohu 2 | S8 Gt 3ifehd 0T & - 1

(a) LATL

(b) LA, Zi 3 Zr

(c) ZLA, Zi, ZLe a /D

(d) LA, Zi, Zr 9 £D

Study the following figure in which a student has marked the angle
of incidence (Zi), angle of refraction (£r), angle of emergence
(Le), angle of prism (£LA) and the angle of deviation (£D). The

correctly marked angles are :

(a) ZAand Zi

(b) LA, Ziand Lr

(c) LA, Zi, Le and ZD
(d) LA, Zi, Zr and £D

31/1/3 19 [P.T.O.



28. TaU T 39 <ig i GfEke ®ieE g, TRt e T (S, 1S 91

29.

TIE) =l BIehiHd Hlh, JTd A & o1 31 39 Tt o1 Ufafeons ¢ W
TTo S hT 9T ohd & | IS R o1 Sl fers Ted & BIdT & -

(a) ®em R urvd gitafda
(b) T R Bret
(c) 32 IR BI
(d) ST, 3eer IR B

To determine the approximate focal length of the given convex lens

by focussing a distant object (say, a sign board), you try to focus
the image of the object on a screen. The image you obtain on the

screen is always :

(a) erect and laterally inverted
(b) erect and diminished
(¢) inverted and diminished

(d) wvirtual, inverted and diminished

= fou U veret o TRY dH=™ 1 WA 9igd oM ok folq
GTe1ehtuT- SATfsRT =Rl i o forw fora < Tra & 7

(a) Ca(OH), ¥R =1

(b) NaOH 2 9 &1 dd

(c) NaOH 3R @f< da
(d) Ca(OH), 3R @S d

Which of the following sets of materials can be used for conducting

a saponification reaction for the preparation of soap?
(a) Ca(OH), and neem oil

(b) NaOH and neem oil

(c) NaOH and mineral oil

(d) Ca(OH), and mineral oil

31/1/3 20



30. 13 B 25 mL 9Tiar i IR WA P, Q, R 3R S K I+

31.

@A H 10 mL ST S ¥Rl @ | 98 39 WAl 3 =) 3= S
1 Ueh-Ueh I 39 JahR firetmar & — P ® KCl; Q ¥ NaCl; R ® CaCl,

agr S H MgCl, | TeIvTd 98 Tcdeh Tl H A1 o foera & T8
TN 2 mL ST © | e T o q8TT hl Hell-HIid fee «

34 5 qrEHfel § O 30T e il 9earedT 7, 3 WEH el | - 1
(a) P3RQ (b) R3S
(c) P,Q3M R (d P,Q3M S

A student takes four test tubes marked P, Q, R and S of 25 mL
capacity and fill 10 mL of distilled water in each. He dissolves one
spoon full of four different salts in each as — KCI in P, NaCl in Q,
CaCl, in R and MgCl, in S. He then adds about 2 mL of a sample
of soap solution to each of the above test tubes. On shaking the
contents of each of the test tubes, he is likely to observe a good

amount of lather (foam) in the test tubes marked :

(@ Pand Q (b) RandS
(¢c) P,QandR (d) P,QandS

TR @afiferen & fawa & = & ¢ fewfort w fomm Hifs 1

[ 39 SAfishaneti § o1 3cae Bidl @

[ ar[ & 3y s@euw & fo sifufen fasor & oferm aeinmse
[ENIEISIGIES

11 repfrertor STferfsan weh frey yerm ot Sarefiientor stfifshan 2

IV T sl Setl o e STl ol IR ofavr 8

T8 Tt fevafor 2 -

(a) LIS (b) ILIITIV

(c) LITIV (d) HaAIIRIV

31/1/3 21 [P.T.O.



32.

Consider the following comments about saponification reactions :
I Heatis evolved in these reactions

I For quick precipitation of soap sodium chloride is added to the

reaction mixture

IIT Saponification reactions are special kind of neutralisation

reactions
IV Soaps are basic salts of long chain fatty acids

The correct comments are :
(@) I, IIand III

(b) II, III and IV

(c) LIand IV

(d) OnlyIandIV

o~

ffIRad § & i FHSITA ST 1 9= © ¢
(a) Tgeh, yeft 3R feushedl & STUTe

(b) HFH % Sheeh FR AT o FHeh
(c) TGS o 9@ AR el & 9@

(d) ueft % Tg TR =THES & U™

Which of the following is a correct set of homologous

organs?

(a) Forelimbs of frog, bird and lizard

(b) Spine of cactus and thorn of Bougainvillea
(c) Wings of bat and wings of butterfly

(d) Wings of a bird and wings of a bat

31/1/3 22



33.

34.

3S.

foreft a1 “foreft feafisTostt <ffst o o1 o fafsm vt <Y veem e

RN 1 T 2 | Sfisit 3 Y fw T wEt # @ S T g 1
(a) W, =M, Y (b) TSHET, Hahl, TT
(c) W, ﬁ‘({\, {ISTHT (d) TSH, JE, <1

A student has to perform the experiment “To identify the different
parts of an embryo of a dicot seed.” Select from the following an

appropriate group of seeds :

(a) pea, gram, wheat

(b) red kidney bean, maize, gram
(c) maize, wheat, red kidney bean

(d) red kidney bean, pea, gram

st o fe@ved o 39 foRiv =07 o1 Tmifchd AN@ T e
3IUHT hegch dlEiehd B ST © TR IGeh! HIRThT faoett § Tehivl
ISR BT 2 | 2

Draw a labelled diagram to show that particular stage of binary

fission in Amoeba in which its nucleus elongates and divide into

two and a constriction appears in its cell membrane.

i B fohdll WelIid e gy forar o wfdfera &l 39 ©id g1
TRl 9 T BIeRfYd hial © | doavarq a8 fR-¢R foret =01 o i IR
ST 8, 3 B R 98 9 F bl THEING hieh fora & Afdfors sl 98 1
Ik od LT 2 | 2
(i) @& <@ &t forg foem § Tmmafia tar 8- ue Y ST 319aT ue o
=L
(i) wfcferst < ATEST 1 1 BT B~ I el & 31a1 T T ¢ ¢
(iii) ST 8 foray o1 <@ o STcaferes fepe o SITAT 8, e U W Widferat o
FTRAR ?

31/1/3 23 [P.T.O.



36.

A student focuses the image of a well illuminated distant object on
a screen using a convex lens. After that he gradually moves the
object towards the lens and each time focuses its image on the

screen by adjusting the lens.

(1) In which direction towards the screen or away from the screen,
does he move the lens?

(i) What happens to the size of the image does it decrease or

increase?

(i11) What happens to the image on the screen when he moves the

object very close to the lens?

3G U AT AT VG0 B § o A9 TEIH o i TS g 39
! | e § SEH 90 2 -

() fEteaafem

(ii) AT SiA

(iii) AT g

(iv) HfeT TESISH Shiai-e 9ol

What do you observe when you drop a few drops of acetic acid to a

test tube containing :
(1) phenolphthalein
(11) distilled water
(111) universal indicator

(iv) sodium hydrogen carbonate powder
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MARKING SCHEME Code No. 31/1/3

CLASS X — DELHI

Expected Answer/ Value point Marks Totd
SECTION -A
Q1 CyHio; CeHuia Yo, Yo 1
Q2.  Each piece regenerates into a new Planaria 1 1
Q3. Because the green plants prepare food by photosynthesis by using solar 1 1
energy.
Q4. Ability of lensto converge or diverge the light rays. Yo
+vesign ® converging lens/ convex lens
-vesign ® diverging lens/ concave lens Ve
S.I. unit — dioptre Y
1 dioptre = 1/ focal length ( m) Y 2
Q5.  Advantages of watershed management —
(i)  mitigates drought and floods
(if) increase the life of the dams and reservoirs downstream
(iif) increases the biomass production and thereby the income of the watershed
community.
(iv) helpsin maintaining ecologica balance by scientific conservation of soil and
water. or any other (Any four) 4x Y 2
Q6. Reuserefersto the use of the same materia again and again. Y%
In reuse of materials no energy is consumed and the resources are saved. Y%
In recycling certain used materials are converted into other useful materials. =
In recycling of materials, energy is consumed and the resources may be Y 2
wasted
Q7. Ethene
C. + =
C,H.OH 3/4% %43/44 %@ H,C=CH, +H,0
ethene
Conc. H,SO,4 acts as a dehydrating agent/ removes water from the
reactant
Ethane/ C,Hg will be formed Yox 4 2
Qs. () Esters 1
Chemical equation —
Conc.H,SO Il
CHg- C- OH+CHyCH,0H ¥4 73 % ¥Y2A® CH,- C- O- CH, - CHg +H,0 1
Product’s chemical name — Ethyl ethanoate Y
(i) Conc. H,S0O, acts as a dehydrating agent (Helps in the removal of water
formed in the reaction) 1 3
Delhi-31/1/3 Page 2



Q9.

Q10.

Q11.

Q12

Q13.

Q14.

Characteristics A B

@ Number of electrons in their 4or 12 or 20 5o0r13or21
atoms

(b) Size of their atoms Bigger Smaller

(c) Their  tendencies to lose More Less
electrons

(d) The formula of their oxides AO B,O3

(e Their metallic character More Less metalic

metallic
()] The formulaof their chlorides ACl; BCl3

The electronic configuration (2, 8, 2) of the element ‘M’ suggests that it
belongs to group 2 and period 3 of the Modern Periodic Table and its valency
is2.

The chemical formula of the compounds are -

M (NOg)g/ Mg (NOg)z, MSO4/ MgSO4, M, (PO4)2/ Mgg (PO4)2.
‘M’ will form ionic compounds by losing two electrons.

Pollination — The transfer of pollen grains from the anther to the stigma is
called pollination.

The two types of pollination :

Self pollination — When the pollen grains from the stamens of a flower fall
on the stigma of the same flower, then self pollination occurs.

Cross pollination — When pollen grains from the stamens of a flower fall on
the stigma of another flower, then cross pollination occurs.

Three methods of contraception —

(i) Barrier method or mechanical method/ Condom/ Diaphragm, to prevent the
meeting of sperms and ova.

(iil) Chemical method/ Oral pills, Changes the hormonal balance of the female
partner so that the eggs are not released.

(iff) Surgica method — to block the vasdeferens in maled vasectomy or the
fallopian tube (oviduct) in females tubectomy, to prevent the transfer of
sperms or egg and hence no fertilization takes place.

(iv) 1UCD< Loop or the copper-T placed in the uterus, to prevent pregnancy

(Any three)

Anther — it produces pollen grains

Style — it provides the path through which the Pollen tube grows and reaches
the ovary

C Ovary - it contains ovules and each ovule has an egg cell/ female gamete. It
developsinto fruit after fertilization.

W >

Y es, the scientist may arrive at the law of dominance according to which the
trait that is expressed in the F; generation is the dominant trait, although
both the dominant and recessive traits are present in the F; generation. In the
F, generation the recessive traits is also expressed along with the dominant
traits.

6 X 12

YotYo

3xY2

Yo

Yo, Y2

Yo, Y2

3x (Yt

¥2)

Yo, Y2

Yo, Y2

Yo, Y2

=
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Q15. Acquired traits
Do not bring changesin the
DNA of germ cells.

2. Cannot direct evolution

=

Inherited traits

Bring changesin the DNA of germ
cells.

Can direct evolution

Cannot be passed on to the

3. progeny Can be passed on to the progeny

Q16. Q)

Diagram
Marking Br and x
b)

Alternately,

C.. C
ol 38 \ glass
C A C,

glass air

Q17. Cause of dispersion of white light — Different colours of light bend through
different angles with respect to the incident ray as they pass through a prism.
Violet light bends the most and red the least. Thus, the each colour emerges
along different paths.

Screcn

Q18. a) The existence of decomposers is essential in a biosphere because they
breakdown complex organic substances into simple inorganic substances that
can be absorbed by the plants. Thus, decomposers

replenish the soil naturally

hel ps in removing the biodegradable waste.
In a food chain the energy moves progressively through the various trophic
levels, it is no longer available to the previous level (autotrophs) and the
energy captured by the autotrophs does not go back to the solar input. Hence,
the flow of energy is unidirectiona

b)

Delhi-31/1/3
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Q19. a i) Pole — Centre of the reflecting surface of the mirror.
ii)  Centre of curvature — The centre of the hollow sphere of which the
reflecting surface of mirror forms a part.
iii)  Principal axis— Straight-line passing through the pole and the centre
of curvature of a spherical mirror.
iv)  Principa focus — Incident rays paralel to principal axis, after
reflection, either converge to or appear to diverge from afixed point

on the principal axis called principal focus of the spherical mirror. aX Y5
b) )
1
i)
infinity 1
C) Concave mirror Yo
Image formed is virtual Ya
Q20. a - Cornea- Refractstheraysof light falling on the eye )
- Iris— Controls the size of the pupil Y
Crystalline lens — Focuses the image of the object on the retina Y
- Ciliary muscles — Holds the eye lens and adjusts its focal length Y
b) i) Objectives — To make people aware and realize their duties towards
society. 1
ii)  One person can give sight to two people Yo
Our eyes can live even after our death =
iii)  Concern for others/ Responsible behavior/ Group work/ or any other
(Any two) 2x %
Q21. @) N
B.!
Diagram 1
b) Marking of u & v
Yo,V
Relation : i:l 1
f v u Ya
Delhi-31/1/3 Page 5
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€0 m=-Lu=-20cm;v=? f=?

=V \ v=+20cm

u Ya
Thusobject isat 2F
i.e. 2f =20cm
\ f=10cm =0.1m 1
p=t-L - 110D
f 0.1 1
Q22. a (i) Ovay- (i) Production of female hormone Y
(if) Production of female gamete Y
(i)  Oviduct- (i) Transfer of female gamete from the ovary Y
(ii) Siteof fertilization Y
(iii) Uterus- (i) Implantation of the zygote Y
(if) Nourishment of the devel oping embryo/ placenta
formation Y

b) Structure of Placenta— it is a disc like structure embedded in the uterine wall
connected to the embryo. It has villi on the embryo’s side of the tissue and on )
the mother side, it has blood spaces, which surround the villi. Y2
Function of Placenta — it provides a large surface area for nutrients/ glucose
and oxygen to pass from the mother’s side to the embryo and waste substances )

from the embryo’s side to mother’s blood. Y2

v Speciation:- The process of formation of a new species from a pre-existing one. 1
- Four factors:
Genetic drift

Mutation / Drastic change in the genes or DNA
Natural selection

Geographical isolation 4x Y2
- Geographical isolation cannot be a major factor in the speciation of a self-
pollinating plant species. 1
- Reason:- Physical barrier cannot be created in self-pollinating plants. 1

Q24. Pass the vapours of the given samples of saturated and unsaturated hydrocarbons
into bromine water taken in two separate test tubes. The one which discharges the
colour of bromine water is that of unsaturated hydrocarbon and the other represents
saturated hydrocarbon. (or any other test) 2
On burning ethane in air, the products obtained are carbon dioxide and water, along

with heat and light. 1

It is considered a substitution reaction because the hydrogen atoms of methane

(CH,) are replaced by chlorine atoms one by one. 1
SECTION-B

25 (¢) 26 (d) 27 (8

28 (c) 29 (b) 30 (&)

31(c) 32 (a 33 (d) 9x1
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Q34. daughter cells

Diagram 1
Labelling %, % 2

Q35. (i) Lenstowardsthe screen/ screen away from the lens

(Note: one mark to be awarded for any other answer) 1
(if) Increase Ye
(iii) Noimage on the screen %) 2

Q36. (i) Nochange/ or remains colourless
(i)  No change
(iii)  Turns pink/orange
(iv) Evolution of acolourless/ odorless gas with brisk effervescence 4x Y2 2

Vidya Cham
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